
Series 

 R1 R2 R3 TOTAL 

E    ADD 

I    EQUAL 

R    ADD 

P    ADD 

     

Parallel 

 R1 R2 R3 TOTAL 

E    EQUAL 

I    ADD 

R    DIMINISH 

P    ADD 

     

 
 
Etotal = E1 + E2 + E3 

Rtotal = R1 + R2 + R3 

Ptotal = P1 + P2 + P3 

Itotal = I1 = I2 = I3 

 
Etotal = E1 = E2 = E3 

Itotal = I1 + I2 + I3 

Rtotal =         1          1                         

              1     1     1   

             R1 + R2 +R3  

 

Ptotal = P1 + P2 + P3 

 
 
 
 
 
If you know E and I, and wish to determine R, just eliminate R from the picture and see what’s left 
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